Name: Class:

Coordinate geometry

The equation of a given line is given by 2x + 3y = 12

1. The gradient of the line is =

2. The intercept on the x-axis is =
3. The intercept on the y-axis is =

4. Find the area of the triangle OAB, where O is the origin and A
and B are the points where the line cuts the x-axis and the y-axis
respectively.

Given that the equations of two lines L, and L, are :
L,:2x+y=8 and
Ly: 6y -mx =3

5. State the gradient of the line

6.1f ;|| L, find m

7.0 L] L, findm
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(Coordinate Geometry)

ANswers

The equation of a given line is given by 2x + 3y = 12

3
1. The gradient of the line is = — o

2. The intercept on the x-axisis= 6

3. The intercept on the y-axis is = 4

4. Find the area of the friangle OAB, where O is the origin and A
and B are the points where the line cuts the x-axis and the y-axis

respectively. 12 sg. Units

Given that the equations of two lines L, and Ly are :
L,:2x+y=8 and
L,: 6y -mx =3

5. State the gradient of the line
-2

6.1f L[| L, find m
-12

7.0 L] L, findm
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